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99 Fr ith BT INEERR T 1th BT 37 7 #h /N2 A 8H27H
1m 0.06 0.06 0.08 0.08 0.07 0.07
3 50cm 0.06 0.06 0.06 0.06 0.06 0.06
100 Hrith BT INERR HTihET 3 f2 B /NFR 8H27H
1m 0.07 0.07 0.06 0.06 0.06 0.06
N N 50cm 0.07 0.07 0.08 0.08 0.06 0.07
101 Hrith BT =ak=a R Hrih BT 37 8 3K =P AR 8827H
im 0.07 0.07 0.07 0.07 0.07 0.07
L N o 50cm 0.08 0.08 0.07 0.07 0.06 0.07
102 BT EHEFK S 8H27H
1m 0.08 0.08 0.07 0.08 0.07 0.07
50cm 0.07 0.08 0.07 0.09 0.08 0.08
103 | LvbhETH REE NRPREBE 8H27H
im 0.07 0.08 0.07 0.08 0.07 0.08
50cm 0.06 0.06 0.06 0.07 0.07 0.06
104 | LvbhETH FREERE ERGEREE 8H27H
1m 0.06 0.05 0.07 0.06 0.06 0.06
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= E » e +
EERERERHIBEE=2)JHRE(ERFF13R)NFER
(FfcE8AH27BEAE D ER)
SHMITEOH20H
[RF AN KEH > FTAER (RETHEYT)
EERKERNERE (FFHI)
AES 2o RS $R 2 B EE( 1 Sv/h)
- BE-BEESE
=[E H X
No. | HETH X4 B4 2 2 T jg’!éf 50cm LEF] &0 (chsk - AJE QD T 19{E) e
10; =) %12[m 4 [g] %F12[m 4[al %12[m
HEsR | Arss | Aars | AR | frer | #Arse
50cm 0.06 0.06 0.05 0.06 0.05 0.05
105 | LvbhETH REEH XERBE 8H27H
1m 0.06 0.06 0.05 0.06 0.05 0.06
. . b 50cm 0.06 0.06 0.07 0.07|EMEFREOMEW O, READHBIE
106 | L= BEEHE g%?g;é;’v’7““ﬁJL<**>ﬁt/’5‘ M | sg278 [ HRE-ERESE 1 B/NCEYT A DAEIE (B
ALIT 1m 0.06 0.06 0.07 0.07|12@LFEE)
50cm 0.04 0.05 0.05 0.07 0.06 0.06
107 | LvbhETh MR WhEThiLta s #E 8H27H
1m 0.05 0.05 0.05 0.06 0.05 0.06
50cm 0.07 0.07 0.08 0.07 0.08 0.08
108 | LvbhETh HEE (72 4 #E E 88278
1m 0.07 0.06 0.07 0.07 0.08 0.08
50cm 0.07 0.08 0.07 0.08 0.07 0.07
109 | LvbhETh MR WhERXEWESHE 8H27H
1m 0.07 0.08 0.07 0.08 0.07 0.07
50cm 0.06 0.06 0.06 0.06 0.07 0.07
110 | LvbhET MR NEAR) VIS HE 8H27H
1m 0.06 0.07 0.06 0.05 0.07 0.07
50cm 0.06 0.07 0.08 0.08 0.09 0.08
111 | LvbhETh INEEAR WhETILEERNER 8H27H
1m 0.06 0.07 0.08 0.08 0.09 0.08
‘ ‘ 50cm 0.06 0.06 0.06 0.08 0.07 0.08
112 | LvbhETH INEAR WHhEHILERE/NER 8H27H
1m 0.05 0.06 0.07 0.07 0.07 0.08
50cm 0.06 0.06 0.05 0.06 0.07 0.07
113 | LvbhETh INEEAR WhETiLiR/NER 8H27H
1m 0.06 0.06 0.05 0.06 0.07 0.07
50cm 0.06 0.07 0.07 0.07 0.07 0.07
114 | LvbETH =a)s R WhEHILERPFR 8H27H
1m 0.06 0.08 0.07 0.07 0.07 0.06
50cm 0.08 0.08 0.07 0.07 0.06 0.07 [EM ][ 80O [ RE-BEZ ] N116EA A
115 | L= R B A AERKEHE S F i 8H27H At o 3 77 e e '
8 " = 8 im 0.08 0.08 0.06 0.08 0.06 0.07|ERKZMBE FEBRLHAR
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BER

REMSHRE=2I VT RAE CERFE13E)HER
(HHMTESA27 HRAED ER)

THITHF9OA20H
JRFANKEFE M RAER (ST #RYD)
BERXERMRAL (RFAHUD)

AES ZoRS 8 8 8B u Sv/h)
- KEE - EESE
SH A = N8
No. | ETH R4 PR AT AE | s00m EM i (PR - 4BBDFHIE) =
Sl sm | miem | 4@ | #i2m | sm | #i2m
pask | HaeR | neez | naee | paee | Haes
50cm 0.08 0.08 0.07 0.07 0.06 0.07 [ IEF [ 80 [ %RE-BEZ ] N115EAX
116 | L= BESR HAAERAEHES TEK 88278 T 5 o7 e g '
= 8 = im 0.08 0.08 0.06 0.08 0.06 0.07|EBRKRFMESFRFIREHAR
o o 50cm 0.09 0.09 0.09 0.09 0.08 0.08
117 | LvhETH Rl R LWhEXEFIK 8H27H
- 0.08 0.09 0.09 0.09 0.08 0.08

X TE12EAFHRIEE, FRS0FE8A30AMNS11ABHICEELIMEERIRERFRE=FVJIRECERFE 120D B THRERBR. TOMITOVTIE. HFERIZEHRT 5.
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